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CLIL – MATHS
PRACTISING DIVIDING
1. Divide these numbers!
a) 642 : 2 =                                                                d) 864 : 2 =
b) 884 : 4 =                                                               e) 669 : 3 =
c) 399 : 3 =                                                               f) 844 : 4 = 

2. Divide first and then write <, >  or = in the circle. 
a)   636 : 3    ⃝     484 : 2                                                   b) 888 : 4    ⃝   888 : 8




c) 969 : 3    ⃝    646 : 2                                                     d) 624 : 2    ⃝   633 : 3




3. Write the correct numeral term with brackets first, and then do the divison. 
The dividend (djeljenik) is three times bigger than 222, and the divisor (djelitelj) is the smallest even number (najmanji parni broj).
	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


 (222 x 3) : _____ = _______________________ =  

                               = _____________





4. Write the correct numeral term with brackets first, and then do the division. 
	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


The successor (sljedbenik) of 483 divide by 2 times.
____________________________ :  2 = __________              



5. On the bus terminal there are many buses parked. How many buses are parked on the parking lot if every bus has 4 wheels, and the total number of wheels is 484?
	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


     The answer: ____________________________________





6. There are 242 skiers on the skiing competition and they are divided in 2 equal groups. 
How many skiers are there in each group? Do the division first and then write the answer.
	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


Answer: In each group there are _______________ skiers.







THE END
